
Adding three numbers

Name:

© Studyladder

3 4
5 3
2 1+

1) 4 6
6 7
5 2+

2) 8 3
6 5
4 8+

3) 9 9
5 8
8 6+

4)

56  +  59  +  84  =6) 77 +  39  +  86  =7)

8)
The mass of three boxes is shown.
Box 1:   88 kg      Box 2:   93 kg      Box 3:   75 kg.
What is the total mass of the three boxes?

9)
To calculate the perimeter of a triangle, add the length of each side. 
What is the perimeter of a triangle with 45 mm, 64 mm and 53 mm 
sides?

10)
If there were 65 students on bus 1, 72 students on bus 2 and 58 students 
on bus 3, how many students on all three buses altogether ?

Use the space to show your working


